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Q.I: Choose the correct answer from the following questions:              (CLOs: K1: 1-3, K2: 4-6, K3: 7-8) 

(1)    The domain of the function 𝑓(𝑥) = 3
 √𝑥

   is  

          a) (−∞, ∞)                        b) [0, ∞)                         c)  (0, ∞)                                      d) none 

(2)     If 𝑭(𝒙) = 𝒇𝒐𝒈 = (𝒙𝟐 + 𝟏)𝟏𝟎, then  

            a)  𝑓(𝑥) = 𝑥10 𝑎𝑛𝑑  𝑔(𝑥) = 𝑥2 + 1                           b)   𝑓(𝑥) = 𝑥2 + 1 𝑎𝑛𝑑 𝑔(𝑥) = 𝑥10       

            c)  𝑓(𝑥) = 𝑥10 𝑎𝑛𝑑  𝑔(𝑥) = (𝑥 + 1)2                        d)   𝑛𝑜𝑛𝑒  

(3)      Which of the following function is odd?      

          a)   𝑓(𝑥) = 𝑥 − 1                b)   𝑓(𝑥) = 𝑥 𝑐𝑜𝑠𝑥              c)  𝑓(𝑥) = 𝑥2                         d) none 

(4)      If 𝐜𝐨𝐬 𝜽 = √𝟑
𝟐

,     𝟎 < 𝜽 < 𝝅
𝟐
  , then the value of  𝐬𝐢𝐧 𝜽 is                          

           a)   3
4
                                         b) 1

2
                                   c) 1                                        d) none       

(5)   Which of the following function is not one-to-one?     

          a)  𝑓(𝑥)=𝑥+4                       b)   𝑓(𝑥) = 𝑥2                    c)  𝑓(𝑥) = 𝑥3                        d) none 

(6)  The vertical asymptote of the curve  𝐲 = 𝒙
𝒙−𝟐

   is                          

          a)   𝑥 = 2                                    b)  𝑥 = −2                       c) 𝑥 = 3                               d) none       

(7)     𝐥𝐢𝐦
𝒙→−𝟐

  (𝒙𝟐 − 𝟐𝒙 − 𝟏𝟐) =  

          a)  0                                        b) 10                                     c)  −12                              d) none 

(8)   𝐥𝐢𝐦
𝒙→𝟐

 ⌊𝒙⌋ =  

           a)  1                                       b) 2                                        c)  3                                  d) does not exist 

Answers: 

1 2 3 4 5 6 7 8 
c a b b b a d d 



Q II. Solve the following questions                                               (CLOs: S1, S2, S3, S4: 𝟒 × 𝟑 = 𝟏𝟐 Marks) 
 
1. Find the inverse of   𝑓(𝑥) = √10 − 3𝑥 

Sol:      𝑓(𝑥) = 𝑦 = √10 − 3𝑥 

Solving for 𝑥:      𝑥 = 10−𝑦2

3
⇒  𝑓−1(𝑦) = 10−𝑦2

3
 

Interchanging 𝑥 and 𝑦, we find 𝑓−1(𝑥) = 10−𝑥2

3
 

                        

 

 

2. Find the exact value of the expression   log3 √3 + log3 √6 − log3 √2 

Sol:    log3 √3 + log3 √6 − log3 √2 = log3(√3 ∙ √6) − log3 √2 = (√3 ∙√6
√2

) = log3 3 = 1 

 

 

3. Find   lim
𝑥→2

 𝑥2+𝑥 −6
𝑥−2

 

Sol: lim
𝑥→2

 𝑥2+𝑥 −6
𝑥−2

= lim
𝑥→2

 (𝑥 −2)(𝑥+3)
𝑥−2

=  lim
𝑥→2

 (𝑥 + 3) = 2 + 3 = 5 

 

 

 

 

4. Find   lim
𝑥→1

𝑎𝑟𝑐 sin (1−√𝑥
1−𝑥

)  

Sol: 

 lim
𝑥→1

𝑎𝑟𝑐 sin (1−√𝑥
1−𝑥

) = lim
𝑥→1

𝑎𝑟𝑐 sin ( 1−√𝑥
(1−√𝑥)(1+√𝑥)

) = lim
𝑥→1

𝑎𝑟𝑐 sin ( 1
(1+√𝑥)

) = 𝑎𝑟𝑐 sin (1
2
) = 𝜋
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